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gFjp I 
vy;yh tpdhf;fSf;Fk; ,j;jhspNyNa tpil jUf. 

1. 1kg rPdp &.120 MfTs;sNghJ> khyh 
&.100 If; nfhLj;J 0.5 kg rPdp 
thq;fpdhu; vdpd;> mtUf;Ff; fpilf;Fk; 
kPjpg;gzk; vt;tsT? 
 

2. nrhw;fspy; vOJf: 
 

 
   

3. RUf;Ff.   (  )  (  ) 4. RUf;Ff: 0.24 + 1.3 

5. jug;gl;l cUtpy;> 2 Nrhb rkhe;juf; 
NfhLfis vOJf. 
 
 

6.   (  ) ,d; ngWkhdj;jpid 
vz;Nfhl;ilg; gad;gLj;jpf; fhz;f. 
 

            
            

 -3 -2 -1 0 1 2 3 4 5 6 7 

7. milg;G ePf;fp vOJf:  (    ) 8. ngWkhdk; fhz;f: √    

9. 5> 8> 15 ,d; ngh.k.rp. fhz;f. 
 
 

10. milg;G ePf;fpr; RUf;Ff: 
  (     )   (    ) 

t/ tTdpah jkpo; kj;jpa kfh tpj;jpahyak; 
1k; jtizg; guPl;ir - 2018 

 
juk; 8  fzpjk; Neuk;: 2kzp. 30epkp. 
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11. 1080 ,d; kpif epug;Gf; Nfhzk; ahJ? 12. 4.25t If; kg ,w;jUf. 

13. ngWkhdq;fhz;f: √   √   14. 16> 36> 72 ,d; ngh.fh.ng. If; fhz;f. 

15. fhuzpg;gLj;Jf:        16. ,ilntsp epug;Gf: 
 

(  )
 (  ) 

 

17. gd;dpUKfp xd;wpd;> 
i. xU Kfj;jpd; tbtk; ahJ? 

 
 
 
 

ii. tpspk;Gfspd; vz;zpf;if ahJ? 

18. jug;gl;l cUtpYs;s Kf;Nfhzpfspd; 
vz;zpf;if ahJ?  
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19. jug;gl;l cUtpd; Rw;wsitf; fhz;f. 20. VWtupirg;gLj;Jf: 
 

 
 
 

 
 
 

  
 
 

   
 
 

 
 

 

gFjp - II 

Kjyhk; tpdh cl;gl> vitNaDk; 5 tpdhf;fSf;F tpil vOJf. 

1. fzpg;gPl;Lr; nraw;ghL xd;wpw;fhff; Nfhy;fs; mLf;fg;gl;l tpjk; gpd;tUkhW: 
 

            
  
a 

   b      c  

i. xt;nthU cUtpYKs;s Nfhy;fspd; vz;zpfif ahJ? 

ii. ,f;; Nfhyj;jpd; mLj;J tUk; cUit tiuf. 

iii. jug;gl;l cUf;fspYs;s Nfhy;fspd; vz;zpf;iffspdhyhd vz; Nfhyj;jpd; 

Kjy; Ie;J cWg;Gf;fisAk; vOJf. 

iv. ,J vj;jidahk; klq;Ff; NfhykhFk;? ,f;Nfhyj;jpd; nghJ cWg;G ahJ? 

v. ,jd; 15k; cWg;igf; fhz;f. 

vi. ,f;Nfhyj;jpy; 372 vj;jidahk; cWg;ghFk;? 

vii. 200 ,Yk; $ba 3,d; kpfr;rpwpa klq;F ahJ? ,J ,f;Nfhyj;jpd; vj;jidahk; 

cWg;ghFk;? 

viii. 1k; ehs; &.1> 2k; ehs; &.2> 3k; ehs; &.3 vd;wthW> fhu;j;jp xt;nthU ehSk; gzk; 

Nrkpj;J te;jhnddpd;> mtd; 15 ehl;fspy; vt;tsT gzj;ijr; Nrkpj;jpUg;ghd;? 

(8x2 = 16) 

2.  

i. cU 1 ,d; Rw;wsitf; fhz;f. 

ii.  

a. cU 2 ,Ys;s nrt;tfj;jpd; Rw;wstpw;fhd ml;ru fzpjf; Nfhitia vOjp 

tpilia vspa tbtpw; jUf. 
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b. ,r;nrt;tfj;jpd; Rw;wsT 78cm vdpd;> x ,d; ngWkhdj;jpidf; fhz;f. 

c. mjd; epsk; kw;Wk; mfyj;ijf; fhz;f. 

d. mjd; gug;gsitf; fhz;f.  

(3+4x2 = 11) 
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3.   

i. jug;gl;l cUtpy; 

a. ∠ABF ,d; epug;Gf; Nfhzk; ahJ?  

b. ,f;Nfhzq;fspd; 

 nghJg; Gak; ahJ? 

 nghJ cr;rp ahJ? 

c. ∠ACB ,d; kpif epug;Gf; Nfhzk; ahJ? 

d. ∠ACD =130o vdpd;> ∠DCE ,d; gUkidf; fhz;f. 

ii. jug;gl;l cUf;fspd; Mq;fpy vOj;Jf;fshw; 
Fwpg;gplg;gl;Ls;s Nfhzq;fspd; gUkidf; fzpf;Ff. 

(1+5x2 = 11) 

 

4.   

i. vz;Kfp xd;wpd; tiyAUit tiue;J fhl;Lf. 

ii. vz;Kfpapd; Kfk;> cr;rp> tpspk;Gfspd; vz;zpf;ifia vOJf. 

iii. gpNsl;Nlhtpd; jpz;kq;fs; 4 I vOJf. 

iv. xapyupd; njhlu;ig vOJf. 

v. xapyupd; njhlu;igg; gad;gLj;jp 20 Kfq;fisAk;> 30 tpspk;GfisAk; nfhz;l 
jpz;kk; xd;wpd; cr;rpfspd; vz;zpf;ifiaf; fhz;f. 

(3+3+2+1+2 = 11) 
 

5.  RUf;Ff: 

i. (  )  (  )    

ii.   (  ) 

iii.            

iv. 
  (  )

 
 

v.  (     )   (      ) 

 

6.   

i. 72 I Kjd;ikf; fhuzpfspd; ngUf;fkhf vLjpr; Rl;b tbtpw; jUf. 

ii. RUf;Ff: 

a. 4t 234kg – 970kg  

b. 3t 234kg x 7 

c. 2t 103kg ÷ 3 

iii. 3t 262kg NjapiyAld; 2t 903kg Njapiy fyf;fg;gl;L xt;nthd;Wk; 5kg 
epiwAs;s nghjpfs; nra;ag;gl;Ls;sd vdpd;> nghjpfspd; vz;zpf;if ahJ? 

(4x2+3 = 11) 
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